REV REVISIONS
B DT|3'12P*'BO16 SYM DESCRIPTION DATE | APPROVED
NC |NEW RELEASE PER E.O. PIT7615 4/7/02 | R.D.R.
A |REVISED PER E.O. PI9196 6/13/06] R.D.R.
B | REVISED PER E.OQ. P21065 'ﬁz&/l /€Mf
——— | 555 —
[39.501] | 388
[35.26]
. 980 -
[24.89]
1715
— .876 t——
7 [4.43] [22.25]

L

~0
0
=0
ot

D444
-

>29

I7-N\
N
ol)—
D
w
2™
e 2— O e
=R - —

(¢
\

|
_] o o ] | |22
\ 110 THRU 90°+2 [3.10]
—_—

)
- . (60 [2.79] ~_

[4.06]  $4-20 SCREW 3X 250
@ .122 [3.10] 153 -] e
VBLIND HOL% t§4?o]_— ~ 27501 [6.35]
440 [1.18] ‘
#6-19 SCREW 2X —— - 450 ‘—{-32-'28] —
[11.43] -
6. MOUNTING HOLES WILL ACCEPT CAMCAR PLASTITE SELF THREAD SCREWS @5
(NOT INCLUDED). EXAMPLE: #6-19, #4-20.
5. RECOMMENDED TORQUE VALUES ARE AS FOLLOWS: #6-19 SCREWS: 10-20 IN LB. SIGNATURE & DATE EP ATL
[1.13-2.26 N-m] #4-20 SCREWS: 6-10 IN LB. [.68-1.13 N-m] Tzt 0003021 CB.MOUNT RECEPTACLE -
‘ 2 PN 90° TALS § T
4. THIS RECEPTACLE MATES WITH DTO6-12S# PLUG -##2%- ALL MODIFICATIONS. [cik | @ Rulud X400 BOIS MOD oEUTSCH
3. SHELL MATERIAL: PLASTIC: FLANGE SEAL MATERIAL: RUBBER. e Wclee %65/l DT SERES = TROUSTRTAL
NOTES 2. DIMENSION TOLERANCE #.025 [.641. FOR PANEL CUTOUTS 4.010 [.25]. — éﬁf:%'/ B DT13-12Px-B0O16
" |. DIMENSIONS SHOWN IN INCHES [MILLIMETERS]. SCALE NONE] wT ENVELOPE ows [ Cope | SHEET [OF 2




DT13-12PA-BO16
COLOR GREY

NOTES:

o IDT|3-12P9K-3016

REVISITONS

B KEYWAY

DT13-12PB-BO16 DT13-12PC-B016
COLOR BLACK COLOR GREEN COLOR BROWN

SYM DESCRIPTION DATE APPROVED
B | SEE SHEET ONE §=6-| S
. . 94] —]
R.040  4X [49.30]

[1.02] [.395 —==
[35.43] @
n
| =

L

. 440 A
[11.18] Y

t—— | 94| —

[49.30]

—— | . 637 R.250

[41.58]

4X

[6.35]

RECOMMENDED PANEL CUTOUTS (@]

SIGNATURE & DATE

DR

P.BURKE 04/03/02

CHK

R Bied 96201

PE

e <150/

APPD

——
—

SCALE  NONE

Mg/ﬁ/'/

PCB MOUNT RECEPTACLE |ctP

NATL.
CODE

12 PIN 90° TALS 8 agangggs;géﬁk AVE.
DT SERES e

B [DT13-12P%-B016

ENVELOPE e | PP

SHEET JOF 2




